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1. RIBEFHINIZEBvODBBEZ0 <t < 1msD
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m(t) = cos2nfiut), fimn= 1kHz
v(t) = [1 + km(t)]cos(2nf.t)
f. = 3kHz,k = 0.5
2. ROEFSOHMIEEZ 0 <t < 0.05ms DEHFETRE.

v(t) = Acos(2nf .t + Bsin(2nfi,t) + @)
A=2,f. =100kHz, f,, = 20kHz,f = 2
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m(t) = sin(2nfi,t), fin = 6kHz
v(t) = A[1 + km(t)]cosrf,t + ¢)
A=2k=07f = 120kHz
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ROv(t) [EBEBEREN-ESTHS.
v(t) = Acos(2rf .t + Bsin(2nf,,t) + ¢)
f. = 10MHz, f,, = 30kHz,f} = 2
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mOEERET, v(OERBERASINESTLTS.
v(t) = A[1 + km(t)]cos(2nf,t + ¢p)
m(t)DEREH S ]| < 10kHzIZH AL,

f. = 100kHzET 3. v(t) IZEEEREZTV () EST-.

y(©) = v(D)cos2nf.t + §)

1. v(t)DRRBHESZE0 < fOHEETRRE L. {BL,
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2. yO)DRBREBEEAE0 < fOHETRRE &.

3. y(OZEBBEA|f| < 10kHzTHAEEEBI 1)L
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7%E0 < fFOEHFETRRE K.
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1. x(t) = Acos2ufit + ¢1)

2. y(t) = Acos(2mfit + ¢1) + Beosmfot + ¢y)
fi=fahr =9,

3. z(t) = Acos(2nfit + ¢1) + Beos(2ufot + ¢y)
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